Opened:	September 5, 2017		
For:	Annual Contract for Automated Flood System Parts		Sole Source
6100009334	T dits	AJ	High Sierra Electronics, Inc. 155 Spring Hill Dr, Suite 106
Item	Description	Quantity	Grass Valley, CA 95945 530-273-2080
1	3316-00 Alert Data Transmitter Weatherproof Fiberglass Enclosure Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	2	\$2,650.00 \$5,300.00 High Sierra Electronics, Ind 3316-00 3 y
2	7000-14 10' Standpipe Assembly W/Key Lock Door Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	4	\$1,554.55 \$6,218.20 High Sierra Electronics, Inc 7000-14 3 ye
3	5302-00 20 Watt Solar Panel Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	3	\$404.30 \$1,212.90 Sunwize 5302-00 1 ye
4	3580-37 Master Controller Electronic L-Panel, PT, 2 Floats Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	4	\$3,490.00 \$13,960.00 High Sierra Electronics, Inc 3580-37 3 y
5	3580-34 Remote Controller Electronic L-Panel, BGO Control and Monitoring Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	10	\$3,436.45 \$34,364.50 High Sierra Electronics, Inc 3580-34 3 yı
6	7110-00 Omni Directional Antenna Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	25	\$118.70 \$2,967.50 D. Johnson 7110-00 3 yı
7	3580-30 Controller Electronic L-Panel Remote Assembly Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	10	\$3,436.45 \$34,364.50 High Sierra Electronics, Inc 3580-30 3 yı

## City of San Antonio Bid Tabulation

Opened:	September 5, 2017 Annual Contract for Automated Flood System		
For:	Parts		Sole Source
			High Sierra Electronics, Inc.
6100009334		AJ T	155 Spring Hill Dr, Suite 106 Grass Valley,
			CA 95945
Item	Description	Quantity	530-273-2080
8	3345-04 Alert Controller/Transceiver/Decoder	5	
	Net Unit Price		\$3,794.50
	Extended Price		\$18,972.50
	Manufacturer Name Product No		High Sierra Electronics, Inc 3345-04
	Warranty (# of years)		3343-04 3 yr
	5316-00 MPPT New	20	
9	Net Unit Price	30	\$272.25
	Extended Price		\$8,167.50
	Manufacturer Name		High Sierra Electronics, Inc
	Product No		5316-00
	Warranty (# of years)		3 yr
	9080-00 Barrier Gate Operator with 25' Wood		
10	Wishbone Arm Net Unit Price	10	\$10,797.50
	Extended Price		\$107,975.00
	Manufacturer Name		Linear/Osco
	Product No		9080-00
	Warranty (# of years)		1 yr
11	9080-01 Barrier Gate Operator Interface Unit	6	
	Net Unit Price Extended Price		\$2,556.55
	Manufacturer Name		\$15,339.30 High Sierra Electronics, Inc.
	Product No		9080-01
	Warranty (# of years)		3 yr
	5310-00 Protech Solar Panel Volt Regulator		
12	Module	15	
	Net Unit Price		\$60.15
	Extended Price Manufacturer Name		\$902.25 High Sierra Electronics, Inc.
	Product No		5310-00
	Warranty (# of years)		3 yr
13	5315-01 Solar Charger & Load Control	30	
	Net Unit Price		\$235.50
	Extended Price Manufacturer Name		\$7,065.00
	Product No		High Sierra Electronics, Inc. 5315-01
	Warranty (# of years)		3 yr
14	3701-00 VHF Telemetry Transceiver	50	
''	Net Unit Price		\$540.00
	Extended Price		\$27,000.00
	Manufacturer Name Product No		Maxon 3701-00
	Warranty (# of years)		1 yr
	2004 04 25 West VIIIE Davies Assetting (440		<u> </u>
15	3801-01 25 Watt VHF Power Amplifier (148- 174 MHz)	1	
	Net Unit Price		No Bid
	Extended Price		*Temporarily Unavailable from
	Manufacturer Name		Supplier
	Product No		
	Warranty (# of years)		

## City of San Antonio Bid Tabulation

pened: or:	September 5, 2017 Annual Contract for Automated Flood System Parts		Sole Source High Sierra Electronics, Inc. 155 Spring Hill Dr, Suite 106
100009334	T	AJ	
Item	Description	Quantity	Grass Valley, CA 95945 530-273-2080
16	7000-13 10ft. Standpipe Section Net Unit Price Extended Price Manufacturer Name Product No	2	\$1,554. \$3,109. High Sierra Electronics, Ir 7000-
	Warranty (# of years)		3
17	7000-01 Standpipe Door with Key Lock Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	8	\$312. \$2,502. High Sierra Electronics, Ir 7000- 3
18	5304-01 40 Watt Solar Panel Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	5	\$562. \$2,814. Sunw 5304- 1
19	5306-01 Watt Solar Panel Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	15	\$727 \$10,917 Sunw 5306
20	6600-10 15 PSI Pressure Transducer Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	15	\$2,118 \$31,776 Dru 6600
21	6640-00 15 PSI Pressure Transducer; 0-5 VDC Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	8	\$1,237 \$9,900 Keller Amer 6640
22	10-13374-01 Cable Battery Cable Assembly Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	50	\$62 \$3,112 High Sierra Electronics, I 10-13374
23	7105-04 High Gain Directional Antenna Net Unit Price Extended Price Manufacturer Name Product No Warranty (# of years)	10	\$384 \$3,843 High Sierra Electronics, I 7105

Opened:	September 5, 2017		
or:	Annual Contract for Automated Flood System Parts	n	Sole Source
	Paris		High Sierra Electronics, Inc.
6100009334		AJ	155 Spring Hill Dr, Suite 106
			Grass Valley,
			CA 95945
Item	Description	Quantity	530-273-2080
24	7110-10 Omni Directional Antenna	40	
	Net Unit Price		\$118.70
	Extended Price Manufacturer Name		\$4,748.00
	Product No		High Sierra Electronics, Inc. 7110-00
	Warranty (# of years)		3 y
	warranty (# or years)		3 y
25	7150-12 Antenna Cable Set	35	
	Net Unit Price		\$227.25
	Extended Price		\$7,953.75
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		7150-12
	Warranty (# of years)		3 у
		1.0	
26	3351-01 Receives & Decodes ALERT	10	<b>#4</b> 000 05
	Net Unit Price		\$1,080.25
	Extended Price Manufacturer Name		\$10,802.50 High Sierra Electronics, Inc
	Product No		3351-01
	Warranty (# of years)		3 y
	in all all y (in or years)		
	4005-01 Output Converter for Low Level		
27	Pressure	10	
	Net Unit Price		\$282.75
	Extended Price		\$2,827.50
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		4005-01
	Warranty (# of years)		3 y
	6640-12 Ouput Converter for Low level		
28	Pressure Board Keller	10	
	Net Unit Price		\$68.55
	Extended Price		\$685.50
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		6640-12
	Warranty (# of years)		3 уі
00	OSAO OO Cantrallan	4.5	
29	3512-00 Controller Net Unit Price	15	¢4 707 4 <i>5</i>
	Extended Price		\$1,787.15 \$26,807.25
	Manufacturer Name		High Sierra Electronics, Inc
	Product No		3512-00
	Warranty (# of years)		3 yı
			,
30	3580-37 Dual Control Local and Master	2	_
	Net Unit Price		\$3,490.00
	Extended Price		\$6,980.00
	Manufacturer Name Product No		High Sierra Electronics, Inc.
	Warranty (# of years)		3580-37
	vvarianty (# Or years)		3 yr

Opened:	September 5, 2017		]
For:	Annual Contract for Automated Flood System Parts		Sole Source
	raits		High Sierra Electronics, Inc.
6100009334		AJ	155 Spring Hill Dr, Suite 106
0.0001111			Grass Valley,
			CA 95945
ltem	Description	Quantity	530-273-2080
	9080-02 BGO Interface Cable Extended by		
31	12FT	8	1
	Net Unit Price		\$8,939.00
	Extended Price		\$71,512.00
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		9080-02
	Warranty (# of years)		3 yr
32	3306-00 Transmitter	3	
	Net Unit Price		\$2,650.00
	Extended Price		\$7,950.00
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		3306-00
	Warranty (# of years)		3 yr
33	5529-00 Pressure Calibrator	1	
	Net Unit Price		\$3,111.80
	Extended Price		\$3,111.80
	Manufacturer Name		Keller America
	Product No		5529-00
	Warranty (# of years)		2 yr
34	10-13371-01 Interface Board	16	
	Net Unit Price	'`	\$1,275.00
	Extended Price		\$20,400.00
	Manufacturer Name		High Sierra Electronics, Inc.
	Product No		10-13371-01
	Warranty (# of years)		3 yr
	Payment Terms		Net 30
	Delivery		60 days
	Estimated Annual Total	+	\$515,562.80
	Estimated Annual Award		\$515,562.80